
Adding Doubles Minus 1 (D)Use an adding doubles strategy to find each sumExample: 6 + 5 = 6 + 6 - 1 = 12 - 1 = 117 + 6 = 7 + 6 = 7 + 6 = 
5 + 4 = 9 + 8 = 2 + 1 = 
8 + 7 = 1 + 0 = 4 + 3 = 
3 + 2 = 4 + 3 = 1 + 0 = 
1 + 0 = 8 + 7 = 5 + 4 = 
4 + 3 = 10 + 9 = 8 + 7 = 
6 + 5 = 2 + 1 = 10 + 9 = 
2 + 1 = 6 + 5 = 9 + 8 = 
10 + 9 = 5 + 4 = 3 + 2 = 
9 + 8 = 3 + 2 = 6 + 5 = 
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Adding Doubles Minus 1 (D) AnswersUse an adding doubles strategy to find each sumExample: 6 + 5 = 6 + 6 - 1 = 12 - 1 = 117 + 6 = 7 + 6 = 7 + 6 =7 + 7 - 1 = 13 7 + 7 - 1 = 13 7 + 7 - 1 = 1314 - 1 = 13 14 - 1 = 13 14 - 1 = 135 + 4 = 9 + 8 = 2 + 1 =5 + 5 - 1 = 9 9 + 9 - 1 = 17 2 + 2 - 1 = 310 - 1 = 9 18 - 1 = 17 4 - 1 = 38 + 7 = 1 + 0 = 4 + 3 =8 + 8 - 1 = 15 1 + 1 - 1 = 1 4 + 4 - 1 = 716 - 1 = 15 2 - 1 = 1 8 - 1 = 73 + 2 = 4 + 3 = 1 + 0 =3 + 3 - 1 = 5 4 + 4 - 1 = 7 1 + 1 - 1 = 16 - 1 = 5 8 - 1 = 7 2 - 1 = 11 + 0 = 8 + 7 = 5 + 4 =1 + 1 - 1 = 1 8 + 8 - 1 = 15 5 + 5 - 1 = 92 - 1 = 1 16 - 1 = 15 10 - 1 = 94 + 3 = 10 + 9 = 8 + 7 =4 + 4 - 1 = 7 10 + 10 - 1 = 19 8 + 8 - 1 = 158 - 1 = 7 20 - 1 = 19 16 - 1 = 156 + 5 = 2 + 1 = 10 + 9 =6 + 6 - 1 = 11 2 + 2 - 1 = 3 10 + 10 - 1 = 1912 - 1 = 11 4 - 1 = 3 20 - 1 = 192 + 1 = 6 + 5 = 9 + 8 =2 + 2 - 1 = 3 6 + 6 - 1 = 11 9 + 9 - 1 = 174 - 1 = 3 12 - 1 = 11 18 - 1 = 1710 + 9 = 5 + 4 = 3 + 2 =10 + 10 - 1 = 19 5 + 5 - 1 = 9 3 + 3 - 1 = 520 - 1 = 19 10 - 1 = 9 6 - 1 = 59 + 8 = 3 + 2 = 6 + 5 =9 + 9 - 1 = 17 3 + 3 - 1 = 5 6 + 6 - 1 = 1118 - 1 = 17 6 - 1 = 5 12 - 1 = 11Math-Drills.Com


